18. /() = (1+112) i (22 -3) + (22 -3) di (14+142) = (1+112) @an) + (21 - 3) (3:7172)
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62.a. f(x)=8x" —6x7 +4x3 —x= f/(x) =56x% —30x* + 12x2 —1 = f7(x) =336x> —120x3 +24x =
S (x) = 1680x* — 360x2 + 24, so £ (0) = 24.

b.y=x"losy=—x"2 = y'=2023=y"=_—6x"%5s0 Y,y =-6 ()™ =-6.
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10. g’ (x) = — = > =—- >
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24. g’ ()= d_ (secx) = secx tanx =
>
" d d 2 ) )
g" (x) =secx— (tanx) 4 tanx — (secx) = secx - sec” X + tanx - secx tanx = secx (sec” x + tan” x
b X

=:secx (1 + 2 tan? .\')

41. f(x) =sinx = f (x) =cosx = " (x) = —sinx = [ (x) = —cosx = f® (x) =sinx = - --. So higher order

derivatives of f (x) are either - sinx or +-cosx. Since —1 < sinx < 1 and —1 < cosx < 1 for all x, we see that

‘f(”) (.\‘)‘ < 1 for all » and all x.



